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1101 | K48 dbimE 245 2,450 0 2,450 10 0 0 0 1,620 1,080
EE 110 1,100 0 1,100 10 0 0 0 1,404 0 756
RE 20 300 0 300 15 0 0 0 0 756 0
ED 375 3,850 0 3,850
12145 GhH 1 10 0 10
1141|5848 me 6 30 0 30 5 0 0 0 2,700 0 1,620
GhH 6 30 0 30
1201|833 E% 30 450 0 450 15 0 0 0 0 2916 0
GhH 30 450 0 450
1203| F ¥ Ay HE 50 500 0 500 10 0 0 0 0 810 0
f=554 100 1,000 0 1,000 10 0 0 0 1,242 0 918
% 250 3,750 0 3,750 15 0 0 0 1,220 0 1,188
(&) 400 5,250 0 5,250
1204|GR—J)L  [E% 5 50 0 50 10 0 0 0 0 756 0
GhH 5 50 0 50
1205 IF5NAE ) 17 68 0 68
1207 | & & GH 610 61 61 0
1209| 5% B 4 12 0 12 3 0 0 0 2.376 0 1,944
(&) 4 12 0 12
1221 =i [E)) 8 11 0 11
1227k fa 50 10 0 10 0.2 0 0 0 0 130 0
(&) 50 10 0 10
1245[/NASE EE 300 60 0 60 0.2 0 0 0 0 151 0
EE 210 84 84 0 0.4 178 0 140 0 0 0
(&) 710 184 84 100
1301[#aF mE 10 40 0 40 4 0 0 0 2,160 0 1,404
#mE 50 250 0 250 5 0 0 0 2,808 0 1,944
(&) 468 442 0 442
1311[F<k IR E 90 360 0 360 4 0 0 0 2,916 0 2,268
Eh 90 360 0 360
1321 |8 dLiEE 246 1,230 0 1,230 5 0 0 0 2,268 0 1,836
BiE 11 55 0 55 5 0 0 0 2,700 0 2,592
(&) 264 1,355 0 1,355
1351E—<> [EE 300 45 0 45 0.15 0 0 0 0 92 0
GhH 420 61 0 61
1355|4595 GH 400 40 0 40
1411 [ &= Gb 115 58 58 0
1513[A—H9 1> |dtiEE 510 5,100 0 5,100 10 0 0 0 4,320 0 864
(&) 510 5,100 0 5,100
1521| B iz 3 30 0 30 10 0 0 0 0 5,616 0
(&) 3 30 0 30
1541 | EH [&0) 2 40 0 40
1603|tz)L)— [E%H 10 100 0 100 10 0 0 0 2,376 0 1,944
Eh 10 100 0 100
1609|70wal) [dtiEE 4 32 0 32 8 0 0 0 0 4,860 0
f=554 15 90 0 90 6 0 0 0 0 3,240 0
GH 19 122 0 122
1627|2=k<k Gh 105 315 0 315
1705| &= = 990 79 0 79 0.08 0 0 0 119 0 103
=E 12 48 0 48 4 0 0 0 0 5,616 0
(&) 1,006 143 0 143
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1715| K% =0 20 2 0 2 0.1 0 0 0 594 0 378
& 20 2 0 2
1803 | EHEE EE 510 51 0 51 0.1 0 135 0 119
S 650 65 0 65 0.1 0 178 0 67
GhH 1,160 116 0 116
1807|#8E E& 150 15 0 15 0.1 0 0 38 0
f=554 2,100 420 0 420 0.2 0 0 70 0
GD 2,250 435 0 435
1809|L &L EH 450 45 0 45 0.1 0 49 0 32
E& 510 102 0 102 0.2 0 86 0 81
[&D) 960 147 0 147
1915|956 S 20 20 0 20 1 0 0 1,080 0
GhH 20 20 0 20
* S EEET * 18,079 36,847 287 36,560
2331|—+{%e |BHR 1 10 0 10 10 0 0 7,020 0
) 1 10 0 10
2731|F K GbH 7 112 0 112
2821 |BIER (&D) 168 84 0 84
* EEET * 177 216 0 216




